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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 595 10.8 3.2 20 54 47.3

2 664 11.9 3.1 20 59.6 52.7

3 253 11.7 3.6 22 53.2 20.1

4 264 12.1 3.5 22 55.2 21

5 71 9.7 4.5 22 43.9 5.6

6 90 11.5 4 22 52.1 7.2

7 279 13.5 3.5 22 61.4 22.2

8 134 12 3.7 22 54.4 10.6

9 177 12.6 4 22 57.5 14.1

10 130 12.9 3.4 22 58.8 10.3

11 230 11.7 3.6 22 53.2 18.3

12 442 12 3.1 22 54.4 35.1

13 267 13.3 3.2 22 60.4 21.2

14 175 12.1 3.7 22 55.1 13.9
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A2 GEOGRAPHY UNIT 4

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


	WJEC 2018 Online Exam Review
	WJEC GCE Geography A Level Unit 4 1110U40-1
	Item Level Data
	Facility factor graph
	Question 2
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 4
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


	Question 5
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked


















































8 
© WJEC CBAC Ltd. 


Section B: Contemporary Themes in Geography: Generic Mark Bands [22 marks] 
 


 AO1 [9 marks] 
 


AO2 [11 marks] 
 


AO3 [2 marks] 


Band Demonstrate knowledge and 
understanding of places, 
environments, concepts, 
processes, interactions and 
change at a variety of scales. 


Apply knowledge and understanding 
in different contexts either to analyse 
or interpret or evaluate geographical 
issues and information. 


Use a variety of relevant 
'geographical skills'* to 
construct arguments and 
communicate findings. 
 


3 7-9 marks 
Wide-ranging and thorough 
knowledge and confident 
understanding of relevant 
concepts and principles. 
 
Developed exemplification 
used with supporting 
geographical terminology. 
 
Well-directed and well-
annotated sketch maps / 
diagrams. 
 
Spelling, punctuation and 
grammar used with a high 
degree of accuracy. 
 


8-11 marks 
Accurate application either to 
interpret or analyse or evaluate. 
 
Synthesis of the connections 
between different elements of the 
response to the question. 
 
Relevant application of the 
specialised concepts. 


2 marks 
A well-constructed, coherent 
and logical response. 


2 4-6 marks 
Secure, straightforward 
knowledge and reasonable 
understanding of relevant 
concepts and principles. 
 
Appropriate exemplification 
and geographical terminology 
is partially evident. 
 
Appropriate, basically accurate 
annotated sketch maps / 
diagrams are included. 
 
Spelling, punctuation and 
grammar used with a 
reasonable degree of 
accuracy. 
 


5-7 marks 
Some application either to interpret or 
analyse or evaluate with limited 
range, depth and development 
Incomplete synthesis between 
different elements of the response to 
the question. 
 


1 mark 
The communication in the 
response is limited or 
incomplete. 
 
 


1 1-3 marks 
Limited knowledge with errors 
and minimal understanding. 
 
Limited use of examples and 
terminology; no supporting 
sketch maps / diagrams. 
 
Spelling, punctuation and 
grammar used with limited 
accuracy. 
 


1-4 marks 
Application either to analyse or 
interpret or evaluate is poor; 
occasional relevant points are made. 


 0 marks 
Response not creditworthy or 
not attempted. 


0 marks 
Response not creditworthy or not 
attempted. 


0 marks 
Response not creditworthy or 
not attempted. 
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4. ‘The Arctic tundra biome cannot be used sustainably.' Discuss.  [22 marks] 
AO1 [9] AO2 [11] AO3 [2] 


 
Focus: 4.2.7 
 
Indicative content  
 
The indicative content is not prescriptive and candidates are not expected to cover all 
points for full marks. Credit other valid points not contained in the indicative content. 
 
Likely themes and specialised concepts include: 
 
 
AO1 
 
Knowledge and understanding could include: 
 


 Threats to the Arctic tundra, including: Climate change, mineral exploitation and 
tourism (causality / place / risk / thresholds) 


 Conflicts with indigenous population (inequality) 


 Consequences of exploiting the Arctic tundra include physical impacts 
(environmental degradation / climate change / loss of unique flora and fauna etc.) 
and human impacts (migration, food supply problems, loss of unique heritage and 
culture etc.) (place / risk / sustainability) 


 Strategies used to manage the Arctic tundra biome and promotion of good 
practices (mitigation / adaptation / sustainability / resilience) 


 
AO2 
 
Application of knowledge and understanding is deployed to examine whether the 
Arctic tundra can be used in a sustainable fashion. Synthesis will be demonstrated by 
the drawing together of evidence to reach a rational conclusion. This evidence could 
include: 
 


 Candidates may highlight the fact that there are positive as well as the negative 
outcomes of human activity in the Arctic tundra (mitigation / adaptation / 
resilience / sustainability) 


 The Arctic Tundra offers direct economic benefits and supports economic activity 
at a range of scales from local to global (scale)  


 Human life depends on the continuing capacity of the Arctic tundra to provide a 
multitude of benefits (sustainability)  


 Comparison of the success of different measures employed in different 
environments (place)  


 Improvements in the use of strategies over time (time scales)  


 Evidence for success by referring to indicators: indicators covered may include 
social, environmental and demographic measures of improvement indicative of 
progress made  


 The scale of the strategy(ies) employed – local / regional / global (scale)  


 The longevity of the strategy(ies) (time scales / sustainability) 
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AO3 
 
Skills evidenced could include:  
 


  The skill of presenting well-constructed, coherent and logical arguments about 
whether it is possible to use Arctic tundra biome in a sustainable fashion  


  The skill of constructing relevant diagrams, which are annotated to meet the 
requirements of the question  


  The skill of reaching conclusions about whether it is possible to use the Arctic 
tundra biome in a sustainable fashion 


 
 
Credit other valid approaches. 
 
 
 


  












Sticky Note

A01: Wide ranging knowledge and understanding has been demonstrated here. The candidate has provided a firm context for their essay.



Sticky Note

A02: Specialsied concepts could have been introduced here. For example, the concept of risk - what are the major threats to the tundra environment? Adaptation and mitigation could have been discussed more robustly too. 



Sticky Note

A02: This component was awarded a L2 mark as the comments provided lack depth and development. There is scope for more sophisticated analysis here and the inclusion of specialised concepts.







Sticky Note

A02: There is some sound analysis provided here. However, there were plenty of opportunities to introduce and discuss specialised concepts such as mitigation, place, resilience, risk, scale and temporal scales.



Sticky Note

A02: Once again, the analysis provided is too basic. The candidate needs to provide a more sophisticated discussion of the threats presented. There is also scope to incorporate a range of specialised concepts here too.







Sticky Note

A02: The essay lacks balance. The candidate needs to identify some of the positive ways in which the tundra can be used too. 



Sticky Note

A02: There are plenty of relevant concepts that could have been introduced here. For example, place and scale. The sustainability angle could have been developed too.



Sticky Note

A01: Wide ranging knowledge has been provided throughout the response. 
A02: Opportunity to mention and discuss relevant specialised concepts has been missed here too.







Sticky Note

A03: Response is structured effectively - Introduction / paragraphs / conclusion.
A02: Candidate could have provided a judgement about the most / least significant threat(s) to the tundra environment. 



Sticky Note

A01: 7/9 - There is some good knowledge and understanding demonstrated here. There is consistent support provided too. However, the essay lacks balance and could have introduced strategies, which have been implemented to help manage the Arctic tundra biome.
A02: 7 / 11 - The candidate analyses the threats to the Arctic tundra biome but fails to develop the specialised concepts component of their response. In addition, the candidate has failed to acknowledge that the Arctic tundra biome can be used in a sustainable manner. This resulted in a L2 mark being awarded.
A03: 2/2 - The respose is appropriately structured. 












Sticky Note

A03: An introduction is included but a firmer context could have been provided here. For example, what case studies are going to be introduced? What specialised concepts will be discussed during the course of the essay?



Sticky Note

A02: Analysis is provided ... "The most significant use of the tundra biome is ..." However, opportunities to introduce specialsied concepts such as risk, scale and sustainability have been missed. This has led to a L2 mark being awarded for this component.







Sticky Note

A01: The major issue here is the generic nature of the response. The candidate is  
demonstrating a reasonable understanding of relevant concepts and principles but there is a lack of case study support. These are L2 traits.  




Sticky Note

A01: Once again, the generic nature of the response means that the candidate has been unable to reach L3. 







Sticky Note

A02: Analysis is provided but there is scope for much development. There are opportunities here for more sophisticated arguments to be advanced. Specialised concepts could have been included too. For example, mitigation, place, resilience, scale and sustainability.



Sticky Note

A01: Yet again, the generic nature of the response means that the candidate has been unable to move out of the L2 band. 








Sticky Note

A02: There is scope here to develop the A02 component of the response. Opportunities exist here to examine specialised concepts such as adaptation, resilience and sustainability.



Sticky Note

A01: 6/9 -  Appropriate exemplification is partially evident but the response needs more specific details to reach L3.
A02: 7/11 - Top of L2. Analysis is provided but the specialised concepts have not been applied in an effective manner.
A03: 2/2 - The response is logically structured.














4. ‘The Arctic tundra biome cannot be used sustainably.’ Discuss. [22]
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Section B: Contemporary Themes in Geography: Generic Mark Bands [22 marks] 
 


 AO1 [9 marks] 
 


AO2 [11 marks] 
 


AO3 [2 marks] 


Band Demonstrate knowledge and 
understanding of places, 
environments, concepts, 
processes, interactions and 
change at a variety of scales. 


Apply knowledge and understanding 
in different contexts either to analyse 
or interpret or evaluate geographical 
issues and information. 


Use a variety of relevant 
'geographical skills'* to 
construct arguments and 
communicate findings. 
 


3 7-9 marks 
Wide-ranging and thorough 
knowledge and confident 
understanding of relevant 
concepts and principles. 
 
Developed exemplification 
used with supporting 
geographical terminology. 
 
Well-directed and well-
annotated sketch maps / 
diagrams. 
 
Spelling, punctuation and 
grammar used with a high 
degree of accuracy. 
 


8-11 marks 
Accurate application either to 
interpret or analyse or evaluate. 
 
Synthesis of the connections 
between different elements of the 
response to the question. 
 
Relevant application of the 
specialised concepts. 


2 marks 
A well-constructed, coherent 
and logical response. 


2 4-6 marks 
Secure, straightforward 
knowledge and reasonable 
understanding of relevant 
concepts and principles. 
 
Appropriate exemplification 
and geographical terminology 
is partially evident. 
 
Appropriate, basically accurate 
annotated sketch maps / 
diagrams are included. 
 
Spelling, punctuation and 
grammar used with a 
reasonable degree of 
accuracy. 
 


5-7 marks 
Some application either to interpret or 
analyse or evaluate with limited 
range, depth and development 
Incomplete synthesis between 
different elements of the response to 
the question. 
 


1 mark 
The communication in the 
response is limited or 
incomplete. 
 
 


1 1-3 marks 
Limited knowledge with errors 
and minimal understanding. 
 
Limited use of examples and 
terminology; no supporting 
sketch maps / diagrams. 
 
Spelling, punctuation and 
grammar used with limited 
accuracy. 
 


1-4 marks 
Application either to analyse or 
interpret or evaluate is poor; 
occasional relevant points are made. 


 0 marks 
Response not creditworthy or 
not attempted. 


0 marks 
Response not creditworthy or not 
attempted. 


0 marks 
Response not creditworthy or 
not attempted. 
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5. ‘Political factors are the main influence on the demographic characteristics of 
India.’ Discuss. [22 marks] 


AO1 [9] AO2 [11] AO3 [2] 
 
Focus: 4.3.5 
 
Indicative content 
 
The indicative content is not prescriptive and candidates are not expected to cover all 
points for full marks. Credit other valid points not contained in the indicative content.  
 
Likely themes and specialised concepts include: 
 
AO1 
 
Knowledge and understanding could include: 
 


 India’s population size, distribution, growth and structure (place) 


 Physical factors influencing population distribution (causality / place / scale / 
inequality) 


 Economic factors influencing population distribution, growth and structure 
(globalisation / inequality) 


 Social factors influencing population growth and structure including education 
(causality / place / scale / inequality) 


 Cultural factors influencing population growth and structure including the caste 
system (causality / place / scale / inequality) 


 Political factors influencing population distribution, growth and structure (causality 
/ place / scale / inequality) 


 
AO2 
 
Application of knowledge and understanding is deployed to evaluate the influence of 
political factors on the demographic characteristics of India. Synthesis will be 
demonstrated by the drawing together of evidence to reach a rational conclusion. 
This evidence could include: 
 


 The interdependence of physical, economic, political, social and cultural factors  
(interdependence)  


 Changes in the importance of factors over time influencing population distribution 
(time scales). India’s urban communities have grown significantly associated with 
the unprecedented rate of urbanisation since the economic reforms of 1991 
(globalisation) 


 Variation over space (place) as there are differences between states. Political 
factors have been important influences in Kerala which has a very progressive 
population management programme involving the education and empowerment 
of women and the lowest rate of population growth. Delhi’s population growth can 
be related to rural-urban migration fuelled by economic development and 
employment opportunities (globalisation). The highest growth rates, in Nagaland, 
can be linked to the political factor of the influx of refugees from Burma 
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AO3 
 
Skills evidenced could include: 
 


 The skill of presenting well-constructed, coherent and logical arguments about 
the demographic characteristics of India and the factors influencing India’s 
demographic characteristics 


 The skill of constructing relevant diagrams which are annotated to meet the 
requirements of the question 


 The skill of reaching conclusions about whether the demographic characteristics 
of India are primarily influenced by political factors 


 
 
Credit other valid approaches. 
 
 


  












Sticky Note

A01: Some sound points are made here but there is a lack of case study support. This is a L2 trait, as the candidate is providing straightforward knowledge and a reasonable understanding of the topic.







Sticky Note

A02: Some analysis is provided here but it lacks depth and development. There is scope to introduce and discuss a variety of specialised concepts here. For example, globalisation, place and scale.



Sticky Note

A01: L2 traits. Once again, the candidate is providing straightforward knowledge and a reasonable understanding of the topic. However, more specific detail are needed to move into L3. The response is too generic.



Sticky Note

A02: Opportunities to introduce specialised concepts such as inequality and place have been missed in this section of the response.



Sticky Note

A02: Candidate could have examined the relative importance of the factors advanced thus far. In addition, specialised concepts could have been identified and introduced too. 







Sticky Note

A01: Answer starts to "drift" at this point and the knowledge and understanding presented fails to address the question set effectively. 




Sticky Note

A02: Opportunities to highlight specialsied concepts such as causality and place have been ignored here. 







Sticky Note

A01: 5/9 - Examples are partially evident and there is some reasonable knowledge and understanding of concepts and principles presented here. More specific details are required for a L3 mark.
A02: 6/11 - Some analysis and interpretation is included but there is a lack of depth and development. Specialiased concepts need to be identified and discussed in a more rigorous manner.
A03: 2/2 - The response is coherent and appropriately structured. 













Sticky Note

A03: Introduction provided but candidates misses the opportunity to introduce the case study examples and specialised concepts that will be examined during the course of the essay.



Sticky Note

A01: Some knowledge and understanding is presented here but there is scope to include more place specific details. 



Sticky Note

A01: This section contains inaccuracies and appears rather muddled / confused. 







Sticky Note

A02: Analytical comments are provided but there is no inclusion of specialised concepts.



Sticky Note

A01: Specific examples / support is lacking here. The answer feels rather generic.



Sticky Note

A01: Specific examples / support is lacking here. The answer feels rather generic.



Sticky Note

A02: Opportunities have been missed here - the candidate could have examined the relative importance of this factor. In addition, the specialised concepts of globalisation, inequality, place, scale and temporal scale could have been introduced. 







Sticky Note

A01: This segment of the essay is very generic and lacks support.



Sticky Note

A02: Analysis is lacking here. More sophisticated arguments are needed.







Sticky Note

A01: 6/9 - Secure knowledge is presented here. Examples are partially evident and are in need of development.
A02: 7/11 - Analysis is provided but there is an absence of specialised concepts. the analysis lacks sophistication too.
A03: 2/2 - The response is appropriately structured.












India


5. ‘Political factors are the main influence on the demographic characteristics of India.’
Discuss. [22]


















































2.	 ‘Short-term responses to the effects of tectonic hazards are more effective than long-term 
responses.’ To what extent do you agree?	 [20]
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Section A: Tectonic Hazards: Generic Mark Bands [20 marks] 


 
 AO1 [6 marks] AO2 [13 marks] 


 
AO3 [1 marks] 


Band Demonstrate knowledge and 
understanding of places, 
environments, concepts, 
processes, interactions and 
change at a variety of scales. 


Apply knowledge and 
understanding in different 
contexts either to analyse or 
interpret or evaluate geographical 
issues and information. 


Use a variety of 
relevant 'geographical 
skills' to construct 
arguments and draw 
conclusions. 
 


3 5-6 marks 
Secure factual knowledge and 
confident understanding of 
relevant concepts and principles. 
 
Developed exemplification used 
with supporting geographical 
terminology. 
 
Well-directed and well-annotated 
sketch maps / diagrams. 
 
Spelling, punctuation and 
grammar used with a high 
degree of accuracy. 
 


9-13 marks 
Accurate application either to 
interpret or analyse or evaluate.  
 
Synthesis of the connections 
between different elements of the 
response to the question. 
 
Relevant application of the 
specialised concepts.  


1 mark 
 
 
 
 
 
 
 
 
 
The response is 
appropriately 
structured. 


2 3-4 marks 
Straightforward knowledge with 
some inaccuracies; some 
understanding of relevant 
concepts and principles. 
 
Appropriate exemplification and 
geographical terminology is 
partially evident. 
 
Annotated sketch maps / 
diagrams contain inaccuracies. 
 
Spelling, punctuation and 
grammar used with a reasonable 
degree of accuracy. 


5-8 marks 
Some application either to 
interpret or analyse or evaluate 
with limited range, depth and 
development. 
 
Incomplete synthesis between 
different elements of the response 
to the question.  
 
 


1 1-2 marks 
Limited knowledge with errors 
and minimal understanding.  
 
Limited use of examples and 
terminology; no supporting 
sketch maps / diagrams. 
 
Spelling, punctuation and 
grammar used with limited 
accuracy. 


1-4 marks 
Application either to interpret or 
analyse or evaluate is poor; 
occasional relevant points are 
made.  


 0 marks 
Response not creditworthy or 
not attempted. 


0 marks 
Response not creditworthy or not 
attempted. 


0 marks 
Response not 
creditworthy or not 
attempted. 
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2. 'Short-term responses to the effects of tectonic hazards are more effective than 
long-term responses.' To what extent do you agree? [20 marks] 


AO1 [6] AO2 [13] AO3 [1] 
 
Focus: 4.1.5 
 
Indicative content  
 
The indicative content is not prescriptive and candidates are not expected to cover all 
points for full marks. Credit other valid points not contained in the indicative content.  
 
Likely themes and specialised concepts include: 
 
AO1 
 
Knowledge and understanding could include: 
 


 A description of primary and secondary hazards associated with volcanic activity 
and their effects (risk) 


 A description of strategies and how they manage hazards. The management may 
refer to how the strategy allows people to avoid the hazard, to absorb the impacts 
the impacts of the hazard or to alleviate the impacts of the hazard after it has 
occurred. (place / mitigation / adaptation / resilience) 


 Strategies that respond to the event can be divided into short and long-term 
responses. Reference could be made to the hazard management cycle (place / 
mitigation / adaptation / resilience) 


 Strategies used to manage volcanic hazards can be divided into: 


 (a) Monitoring, predicting and warnings of volcanic eruptions – e.g. Hazard zone 
mapping / early warning systems / media broadcasts etc. (place / mitigation / risk 
/ adaptation) 


 (b) Mitigating volcanic hazards and modifying the event, vulnerability and loss – 
e.g. evacuation procedures / rescue efforts / provision of aid etc. (place / 
mitigation / risk / adaptation / resilience) 


 (c) those that respond to the event – e.g. reconstruction efforts / rehabilitation / 
building engineering (Mitigation / adaptation / resilience) 


 
AO2 
 
Application of knowledge and understanding is deployed to evaluate to what extent 
short-term responses to the effects of tectonic hazards are more effective than long-
term responses. Synthesis will be demonstrated by the drawing together of evidence 
to reach a rational conclusion. This evidence could include: 
 


 Comparison of the effectiveness of different measures employed in different 
environments (place)  


 The interdependence of strategies. Evacuation (short-term response) is a very 
effective method of management, but it depends on effective long-term 
monitoring and prediction (interdependence) 


 Variation in the effectiveness of the strategies provided according to the nature of 
the primary and secondary hazards associated with tectonic activity (risk) for 
example the effectiveness of a strategy may vary according to whether the 
tectonic hazard is a lava flow or liquefaction 


  







7 
© WJEC CBAC Ltd. 


 The frequency of the tectonic hazard can determine whether short-term or long-
term responses are more effective. Mount Sakurajima in Japan erupts so 
frequently (548 eruptions in 2009) that long-term responses (hazard map with 
exclusion zones; annual evacuation drill is a 40-year tradition) are well-
established 


 The magnitude of the tectonic hazard can determine whether short-term or long-
term responses are more effective  


 The areal extent of the tectonic hazard can determine whether short-term or long-
term responses are more effective (scale), for example the ash associated with 
the eruption of Eyjafjallajökull (2010) had profound impacts on aviation over 
European air space. Evacuation proved to be an effective strategy on a local 
scale, but hazard mapping was more appropriate for the aviation industry on a 
regional scale (scale) 


 The level of economic development can determine which types of strategies local 
communities affected can afford and have a bearing on their effectiveness 
(resilience), for example expensive aseismic buildings in California and Japan do 
perform well even in high magnitude earthquakes 


 
AO3 
 
Skills evidenced could include:  
 


 The skill of presenting well-constructed, coherent and logical arguments about 
the short-term and long-term responses to the effects of tectonic hazards 


 The skill of constructing relevant diagrams (qualitative skills) which are annotated 
to meet the requirements of the question 


 The skill of reaching conclusions about the effectiveness of short-term and long-
term responses to the effects of tectonic hazards 


 
 
Credit other valid approaches. 
 
 


  












Sticky Note

A03: Introduction provided but the candidate fails to take the opportunity to introduce the case studies and specialised concepts that will be examined during the course of the response.



Sticky Note

A01: A case study has been provided here but the essay lacks consistent support. 



Sticky Note

A02: Analysis is provided but the candidate fails to acknowledge a range of specialised concepts. For example, interdependence, mitigation, place, risk and scale. 







Sticky Note

A01: A case study has been provided here but the essay lacks consistent support. The generic nature of the support led to a L2 mark being awarded.



Sticky Note

A02: L2 analysis is provided here. There were chances to introduce specialised concepts such as scale and sustainability here. 



Sticky Note

A01: Once again, a case study has been provided but there is a distinct lack of depth and detail. The partial use of case studies is a L2 trait.







Sticky Note

A02: Numerous specialised concepts could have been included here but they have been ignored. Candidates should aim to discuss the specialised concepts in an explicit manner. 



Sticky Note

A01: 4/6 - Straightforward knowledge and understanding is presented here. Examples are provided but they lack depth and the necessary development needed to a L3 mark to be awarded.
A02: 8/13 - The candidate provides analysis throughout the response but it is hampered by the failure to acknowledge the specialised concepts.
A03: 1/1 - The essay is appropriately structured.












Sticky Note

A02: Analytical comments are provided here. Candidate is clearly attempting to tackle the question set.



Sticky Note

A02: The candidate hasn't identified which specialised concepts will be addressed during the course of their essay. This would have been an ideal opportunity.



Sticky Note

A01: A case study is provided but depth / detail are not always provided. This resulted in a L2 mark being awarded.



Sticky Note

A02: The candidate is examining the effectiveness of short-term responses but has failed to discuss or incorporate the specialised concepts as part of their analysis.



Sticky Note

A01: Case study provided but depth is lacking. More specifics are required for a L3 mark.







Sticky Note

A02: Once again, the candidate is assessing the effectiveness of short-term responses but fails to introduce the specialised concepts. For example, there were opportunities here to discuss mitigation, resilience, risk and scale. 



Sticky Note

A02: Once again, this would have been an ideal opportunity to introduce and discuss a range of specialised concepts.







Sticky Note

A02: Once again, there are plenty of opportunities to discuss and explore a multitude of specialised concepts here. However, issues such as mitigation, resilience, risk and scale have not been introduced.



Sticky Note

A01: This is a rather generic discussion. Case study support is lacking here. Specific examples are needed on a consistent basis to secure a L3 mark.







Sticky Note

A01: 4/6 - The essay has been awarded a L2 mark for this component. The essay lacks consistent, detailed support and the use of subject specific terminology. 
A02: The response has been awarded a low L3 mark. The candidate has clearly attempted to examine whether short-term responses are more effective than long-term responses to tectonic hazards. There are plenty of comments and judgements provided throughout the response. However, the specialised component element needs to be explicitly developed. 
A03: The response scores 1/1 as it is appropriately structured.



Sticky Note

A01: Once again, there is a lack of support here. The generic nature of the discussion has prevented the candidate attaining a mark in the L3 band.



Sticky Note

A02: Once again, the opportunity to introduce specialised concepts such as place, risk and scale has been missed.



Sticky Note

A03: The candidate has provided a conclusion, which neatly highlights some of the key points raised during the essay.












2.	 ‘Short-term responses to the effects of tectonic hazards are more effective than long-term 
responses.’ To what extent do you agree?	 [20]











